五年级数学下册

《小数简便计算题》寒假练习
15.68﹣（7.78﹣4.32）﹣2.32

=15.68﹣7.78+4.32﹣2.32

=（15.68+4.32）﹣（7.78+2.32）

=20﹣10.1

=9.9

4.63×1.4+46.3×0.86

=46.3×0.14+46.3×0.86

=46.3×（0.14+0.86）

=46.3×1

=46.3

12.5×0.76×0.4×8×2.5

=（12.5×8）×（0.4×2.5）×0.76

=100×1×0.76

=76

23.25﹣6.75﹣3.25

=23.25﹣（6.75+3.25）

=23.25﹣10

=13.25
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《小数简便计算题》寒假练习
0.9+9.9+99.9+999.9

=1﹣0.1+10﹣0.1+100﹣0.1+1000﹣0.1

=（1+10+100+1000）﹣（0.1+0.1+0.1+0.1）

=1111﹣0.4

=1110.6

（36.7﹣4.9）×101﹣31.8

=31.8×101﹣31.8

=31.8×（101﹣1）

=31.8×100

=3180

4.52+0.61+1.39+6.48

=（4.52+6.48）+（0.61+1.39）

=11+2

=13

（294.4﹣19.2×6）÷（6+8）

=（294.4﹣115.2）÷14

=179.2÷14

=12.8
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[（8.1﹣5.6）×0.9﹣1.05]÷0.04

=[2.5×0.9﹣1.05]÷0.04

=[2.25﹣1.05]÷0.04

=1.2÷0.04

=30

（9.36×5+9.36+9.36×2）×1.25

=9.36×（5+2+1）×1.25

=9.36×8×1.25

=9.36×（8×1.25）

=93.6

12.54﹣4.56﹣3.44﹣1.54

=（12.54﹣1.54）﹣（4.56+3.44）

=11﹣8

=3

2.72÷[（8.2﹣6.5）×0.5]

=2.72÷[1.7×0.5]

=2.72÷0.85

=3.2
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9.12+9.12×9﹣60.2

=（1+9）×9.12﹣60.2

=10×9.12﹣60.2

=91.2﹣60.2

=31

2.15+8.73+1.27+7.85

=（2.15+7.85）+（8.73+1.27）

=10+10

=20

2.5×（1.9+1.9+1.9+1.9）

=2.5×4×1.9

=10×1.9

=19

4×（25+2.5+0.25）÷111

=（4×25+4×2.5+4×0.25）÷111

=（100+10+1）÷111

=111÷111

=1
